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3fEERmIR | 3095= | 1 8ICDE 7,000 ( 7,700M) | ({@%)

3SR | 3118= |1 8(ICDT 12,000 (13,200M) | (1B%=) ¥+7— MLA
3fERmAR | 316SZ% | 1BICDE 7,000 ( 7,700M) | ({@%)
3fmEAR | 37285%E | 1B8(CDOE 7,000 ( 7,700M) | ({@%)

3R | 3735= | 1B8ICDE 7,000 ( 7,700M) | ({@=%)

3R | 3745%= | 1B8ICDE 7,000 ( 7,700M) | (@)

3fFmmE | 3755%F |1 BICDE 7,000 ( 7,700M) | (f@%)

4 PEIRAR LDREE 1 8ICDE 12,000 (13,200M) | (f&2=) >+7--MLA
4 BEIRAR 4528% |1BICDE 7,000 ( 7,700M) | ({@%)

4 BE&IRIR 4538% |1BICDE& 7,000 ( 7,700M) | ({@=)

4 PERAR 45485% |1B8(CDE 2,200 ( 2,420M) | (2 ABBE)

4 BEIRAR 4565%F |1B8ICDE 7,000 ( 7,700A) | ({@=)

4 BEIRIR 45752 |1BICDE 7,000 ( 7,700A) | ({@=)

4 BEIRAR 4588% |1B8ICDE&E 2,200 ( 2,420M) | (2 ABREE)

4 BEIRAR 47082 |1BICDE 6,200 ( 6,820M) | ({@=)

4 PEIRAR 47285% |18ICD& 6,200 ( 6,820M) | (f@=)

4 BEIRIR 47352 |18IcDO& 7,000 ( 7,700A) | ({@%)

4 BEIRIR 47452 |1BICDE 7,000 ( 7,700A) | (f@%)

4 BEIRAR 478S% |1B8ICDOE 6,200 ( 6,820M) | (f@%)

4 BEIRIR 47952 |18ICDE 6,200 ( 6,820M) | (A=)

4 FERIR 4805% |18IcD& 6,200 ( 6,820M) | (f@%)

4 PEIRIR 4815% |18ICDE 6,200 ( 6,820M) | (f@%)

4 BERAR 48285% |18ICDE 2,000 ( 2,200M) | (@@= 3 AZRE)
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4PERRIR | 4065S=E | 1 BICDE 6,200 ( 6,820M) | (A=)

4FERFBE | 407S%E |1 BICDOE 6,200 ( 6,820M) | (f@%)

4PBERBIR | 4135%F | 1B8ICDE 7,000 ( 7,700M) | (l@=)
S5fERmE | 5015=F | 18ICDE 6,200 ( 6,820MA) | (f@%)

S5EEFBE [ 514852 | 1B8ICDE 12,000 (13,200M) | (B=) ¥+7— MLA
S5MTmHRE | 5525F |1 B(CDOE 6,200 ( 6,820M) | (A=)
S5MEFRR | 5535 | 18ICDE 6,200 ( 6,820MA) | (1l@%=)
SRR | 5625=F | 1BICDE 6,200 ( 6,820M) | (1l@=)
SRR | 5635%E | 18ICDE 6,200 ( 6,820MA) | (f@=)
SHEmHRIR | 564S%F | 18ICDE 6,200 ( 6,820M) | (@=)

S5EmRE | 5895% | 18ICDE 7,000 ( 7,700A) | (f@=)
S5kmRR | 5928% | 1BICDE 8,000 ( 8,800M) | ({@%) ¥+7- MLA
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